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Q.1(a)  Describe briefly the terms Primary data and Secondary data with examples. [5] 
Q.1(b) Distinguish between Census and Sample survey.  [5] 

   
   

Q.2(a) Describe briefly the various measures of Central tendency. [5] 
Q.2(b) Determine the mean, variance and coefficient of variation for the following frequency data: 

x 4 12 20 28 36 44 
f 8 7 16 24 15 7 

 

[5] 

   
   

Q.3(a) Define Karl Pearson’s correlation coefficient, and hence obtain the correlation coefficient 
between X and Y for the following data: 

X 1 3 4 5 7 8 10 
Y 2 6 8 10 14 16 20 

 

[5] 

Q.3(b) Obtain the equation of regression line of Y on X for the following data, and hence estimate the 
value of Y for X=75. 

X 65 66 67 67 68 69 70 72 
Y 67 68 65 68 72 72 69 71 

 

[5] 

   
   

Q.4(a) Define Central Limit Theorem. If {𝑋ଵ, 𝑋ଶ, … , 𝑋௡} is a random sample from 𝑁(𝜇, 𝜎ଶ) population, 
obtain the sampling distribution of 𝑋ത.   

[5] 

Q.4(b) Define the terms- (i) Type I error, (ii) Type II error, and (iii) Power of Test. [5] 
   
   

Q.5(a) The heights (in inches) of 10 candidates of a class are found to be: 70, 67, 62, 68, 61, 68, 70, 64, 
64, 66. Is it reasonable to believe that the average height in the class is greater than 64 inch. Test 
this at 5 % level of significance. (Given: 𝑡଴.଴ହ,ଽ = 1.83).   

[5] 

Q.5(b) Describe the test procedure for testing the null hypothesis 𝐻଴ ∶  𝜎ଶ = 𝜎଴
ଶ in a random sample 

{𝑋ଵ, 𝑋ଶ, … , 𝑋௡} of size 𝑛 from 𝑁(𝜇, 𝜎ଶ) population, where 𝜇 is known.   
[5] 
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